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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Fill in the blanks : - | 1x7=7

i cR s U - |

.(a) Vassopressin hormone deflclency
CEHUSES wovsmuivasmnsnnne disease.

el TR SeRe @d @ifkY 2
e, |

(b) Contraction of the heart starts at the
................. node.

ﬁwﬁr@a IO TF ... ‘ﬂ‘]ﬁ_l
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(e} Leydig cells secrefe ...cciisvcomisves
hormone.

(GERICD ICES) [ . T
IR |

-(d) The peptic cells of gastric glands secrete

....... T I

(=) . is the protein part of
holoenzyme. |
................. 2R (AT TS &' 67 S |

() ‘Bundle of His’ is found in ................. ;
2o =T oo, ..-S SRS |

1} R RR— gland secretes luteinizing
hormone. ' _
................. & TCoRNIRfER TN W1 S |

2. Answer in brief : (any four) 2x4=8

ST el frmt ¢ (et i)

(a) Define Michaelis constant.

ECPeTR §3F'3 3a fort
(b) What is chloride shift?
TG FAGT 2
(c) Define synapse.
wIY ARG 5 o
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(d) Significance of Urea Cycle.
TR 51 Sl |

(e) What is muscle contraction ?

AT FRIoA Jferest & gt e
3. Write short notes on : (any three)
S5x3=15
5y (OrF forat ¢ (Rigerean fefon)
(a) Oxygen dissociation curve
e Reaes @
(b) B-oxidation of palmitic acid
AT aftws [ i< -
(c) Krebs’ cycle
(G B&P
(d) Neurotransmitter.
RYAIT
(e) Role of hormones in female reproductive
system.

ﬁ’tm’aeﬁa—wm HO |

4. What is blood coagulation? Describe in
detail the mechanism of blood coagulation.
2+8=10
IF Trowd AfdFl e (ou Siowd diE (FEmE

2%, IZeNg, fordl |
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Or | 91
What is digestion? Explain in detail the
physiological process of carbohydrate
digestion in man. 2+8=10
Albe 52 MZA (720 AT A6 FIfelaen IR
GG <10

5. Describe the mechanism of Enzyme action ?

Write a brief note on Enzyme kinetics.
5+5=10

b (I el 51 | B aAfSRies T eo o
5% (OIF ol |
‘Or/ 9l

 Define action potential. Describe in detail
the conduction of nerve impulse along a
non-myelinated nerve fibre. 2+8=10
form Re's o foral | TafemiReR Sigees IEE
TR o (VR AAI%S 27 %5013 Bl |

6. What 1s countercurrent mechanism ? Write
a short note on mechanism of urine
formation. 5+5=10

AR e AafS {2 T el elferai Raca o
53, COrRl Tt

Or [ g«
Explain in detail the mechanism of 'Electron
Transport Chain in mitochondria.

ke Sakapeia SR Sl q@m wmﬁw
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